= di-soric
VO-M6/50-M6x30-2.5
« BRENEF i

» AT ETHEHEORRERNTR
» RERGIE

50

39
=

AR (B8 ) +20°C, 24V DC

Btk RESFTH

.. T WRB 120 S-SG-M6x30-2.5, WRB 120 P-SG-M6x30-2.5

F3F FSB 10 M G1-B8 33ia#]] 5 WRB 120 S-SG-M6x30-2.5 —#2f 8, -5 WRB 120 P-SG-M6x30-2.5 —#2(%
FAF FSB 50 M 60 G3-B8 3xita#]], 5 WRB 120 S-SG-M6x30-2.5 —#2{#fg, 5 WRB 120 P-SG-M6x30-2.5 —i(sFg
FF FS 50 M G3-B8 3514, 5 WRB 120 S-SG-M6x30-2.5 —i2(#fg, 5 WRB 120 P-SG-M6x30-2.5 —i2(HF
FF FS 12-100-1 M G3-B8 35ia#], 5 WRB 120 S-SG-M6x30-2.5 —i&f#fg, 5 WRB 120 P-SG-M6x30-2.5 —i& (5
FATF FS 12-100-1 M G3-B8-E 35ia#, 5 WRB 120 S-SG-M6x30-2.5 —#2ff, 5 WRB 120 P-SG-M6x30-2.5 —2(F
FAF FS 12-100-2 M G3-B8 35ia#]] 5 WRB 120 S-SG-M6x30-2.5 —#2{# g, 5 WRB 120 P-SG-M6x30-2.5 —2(sFH
KR @6 mm

TiEEEE 50.0 mm

T{EEE 35 ... 60 mm

BZER/ K https://www.di-soric.com/206445

di-soric GmbH & Co. KG . SteinbeisstraBe 6 . DE-73660 Urbach . www.di-soric.com © di-soric . {REBESEEFY . 2024.07.16 . U/ 1 (1)



